Test 2 Review
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
The system through which management is given financial information for use in conducting the affairs of the business and in reporting to owners and other interested parties is called the:

	a.
	accounting system

	b.
	fiduciary system

	c.
	operations system

	d.
	auditing system


____
2.
The three phases of setting up an accounting system are, in order:

	a.
	design, implementation, analysis

	b.
	analysis, design, implementation

	c.
	design, analysis, implementation

	d.
	implementation, design, analysis


____
3.
When a firm uses internal auditors, it is adhering to which one of the following internal control elements?

	a.
	risk assessment

	b.
	monitoring

	c.
	proofs and security measures

	d.
	separating responsibilities for related operations


____
4.
The objectives of internal control are to:

	a.
	control the internal organization of the accounting department personnel and equipment

	b.
	provide reasonable assurance that operations are managed to achieve goals, financial reports are accurate, and laws and regulations are complied with

	c.
	prevent fraud, and promote the social interest of the company

	d.
	provide control over "internal-use only" reports and employee internal conduct


____
5.
Internal controls include detailed policies and procedures that are used to:

	a.
	aid management in directing operations

	b.
	apply for secret patents

	c.
	control who is allowed in a retail area of a store

	d.
	aid systems implementation


____
6.
A firm's internal control environment is influenced by:

	a.
	management's operating style

	b.
	organizational structure

	c.
	personnel policies

	d.
	all of the above


____
7.
An element of internal control is:

	a.
	risk assessment

	b.
	journals

	c.
	subsidiary ledgers

	d.
	controlling accounts


____
8.
The controlling account that summarizes the debits and the credits to the individual accounts in the creditors ledger is entitled:

	a.
	Accounts Receivable

	b.
	Wages Payable

	c.
	Accounts Payable

	d.
	Fees Earned


____
9.
The total on the "schedule of accounts payable" at January 31 should equal:

	a.
	the sum of the accounts payable and notes payable controlling accounts totals at January 31

	b.
	the total of the purchases journal on January 31

	c.
	the amount reported in the post-closing trial balance at January 31 for Accounts Payable

	d.
	the balance in Accounts Receivable at January 31


____
10.
At the end of each month, the total of the amount column of the revenue journal is posted as a:

	a.
	debit to Accounts Receivable and a credit to Cash

	b.
	debit to Accounts Receivable and a credit to Fees Earned

	c.
	debit to Cash and a credit to Fees Earned

	d.
	debit to Cash and a credit to Accounts Payable


____
11.
In which journal would an adjustment for an overcharge by a creditor be recorded?

	a.
	general journal

	b.
	purchases journal

	c.
	cash payments journal

	d.
	cash receipts journal


____
12.
Which of the following transactions is recorded in the revenue journal?

	a.
	sale of excess office equipment for cash

	b.
	rendering services for cash

	c.
	rendering services on account

	d.
	sale of excess office equipment on account


____
13.
Which of the following is recorded in the cash receipts journal?

	a.
	cash withdrawn by the owner

	b.
	cash purchase of equipment

	c.
	cash received on customer's account

	d.
	adjusting entry for depreciation


____
14.
Entries in a special journal for revenues are posted in the:

	a.
	accounts receivable subsidiary ledger

	b.
	accounts payable subsidiary ledger

	c.
	fixed asset subsidiary ledger

	d.
	cash subsidiary ledger


____
15.
Subsidiary ledgers:

	a.
	are used only for Accounts Payable and Accounts Receivable

	b.
	may be used for various ledger accounts

	c.
	may be used for only those accounts specified by the FASB

	d.
	are never used for more than four accounts


____
16.
Special journal entries are:

	a.
	all posted at the end of the accounting period

	b.
	posted either daily or monthly depending on the accounts used

	c.
	all posted daily

	d.
	recorded in addition to the same information being recorded in a general journal


____
17.
If a company uses special journals:

	a.
	it must have one for cash, receivables, and payables

	b.
	it may have no more than four

	c.
	the quantity and design depend on the needs of the company

	d.
	no matter the quantity, the design must comply with the FASB requirements


____
18.
Which account would probably never need a subsidiary ledger?

	a.
	Cash

	b.
	Office equipment

	c.
	Vehicles

	d.
	Notes receivable


____
19.
Which of the following is not an advantage of a computerized system over a manual system?

	a.
	transactions are recorded and posted at the same time

	b.
	accuracy is usually better with a computerized system

	c.
	current balances are always available

	d.
	internal controls are optional to the computerized system


____
20.
Which of the following explains why there is no month-end posting to controlling accounts in a computerized accounting system?

	a.
	controlling accounts are the sum of the balances in the subsidiary

	b.
	when transactions are entered, they are posted immediately to all affected accounts

	c.
	the computer does not make posting and mathematical errors

	d.
	computerized accounting keeps a "running balance" on all accounts; therefore, posting is not necessary.


____
21.
Generally, the revenue account for a merchandising business is entitled:

	a.
	Sales

	b.
	Net Sales

	c.
	Gross Sales

	d.
	Gross Profit


____
22.
The difference between sales and cost of merchandise sold for a merchandising business is:

	a.
	Sales

	b.
	Net Sales

	c.
	Gross Sales

	d.
	Gross Profit


____
23.
Merchandise inventory is classified on the balance sheet as a:

	a.
	Current Liability

	b.
	Current Asset

	c.
	Long-Term Asset

	d.
	Long-Term Liability


____
24.
When purchases of merchandise are made for cash, the transaction may be recorded with the following entry:

	a.
	debit Cash; credit Merchandise Inventory

	b.
	debit Merchandise Inventory; credit Cash

	c.
	debit Merchandise Inventory; credit Cash Discounts

	d.
	debit Merchandise Inventory; credit Purchases


____
25.
Merchandise is ordered on November 12; the merchandise is shipped by the seller and the invoice is prepared, dated, and mailed by the seller on November 15; the merchandise is received by the buyer on November 17; the entry is made in the buyer's accounts on November 18.  The credit period begins with what date?

	a.
	November 12

	b.
	November 15

	c.
	November 17

	d.
	November 18


____
26.
When merchandise is purchased to resell to customers, it is recorded in the account entitled:

	a.
	Supplies

	b.
	Capital

	c.
	Merchandise Inventory

	d.
	Sales


____
27.
The inventory system employing accounting records that continuously disclose the amount of inventory is called:

	a.
	retail

	b.
	periodic

	c.
	physical

	d.
	perpetual


____
28.
Sales to customers who use bank credit cards such as MasterCard and Visa are usually recorded by a:

	a.
	debit to Bank Credit Card Sales, debit to Credit Card Expense, and a credit to Sales

	b.
	debit to Cash and a credit to Sales

	c.
	debit to Cash, credit to Credit Card Expense, and a credit to Sales

	d.
	debit to Sales, debit to Credit Card Expense, and a credit to Cash


____
29.
Under a perpetual inventory system, the costs of all sales of merchandise are credited to the account entitled:

	a.
	Sales Discounts

	b.
	Cost of Merchandise Sold

	c.
	Sales Returns and Allowances

	d.
	Merchandise Inventory


____
30.
Which of the following accounts has a normal debit balance?

	a.
	Accounts Payable

	b.
	Sales Returns and Allowances

	c.
	Sales

	d.
	Interest Revenue


____
31.
Using a perpetual inventory system, the entry to record the return from a customer of merchandise sold on account includes a:

	a.
	credit to Sales Returns and Allowances

	b.
	debit to Merchandise Inventory

	c.
	credit to Merchandise Inventory

	d.
	debit to Cost of Merchandise Sold


____
32.
A sales invoice included the following information: merchandise price, $8,000; transportation, $400; terms 2/10, n/eom, FOB shipping point.  Assuming that a credit for merchandise returned of $800 is granted prior to payment, that the transportation is prepaid by the seller, and that the invoice is paid within the discount period, what is the amount of cash received by the seller?

	a.
	$7,200

	b.
	$7,456

	c.
	$7,600

	d.
	$7,056


____
33.
If the buyer is to pay the transportation costs of delivering merchandise, delivery terms are stated as:

	a.
	FOB shipping point

	b.
	FOB destination

	c.
	FOB n/30

	d.
	FOB buyer


____
34.
Merchandise subject to terms 1/10, n/30, FOB shipping point, is sold on account to a customer for $18,000.  The seller paid transportation costs of $1,000 and issued a credit memorandum for $5,000 prior to payment.  What is the amount of the cash discount allowable?

	a.
	$190

	b.
	$180

	c.
	$170

	d.
	$130


____
35.
Merchandise with an invoice price of $5,000 is purchased subject to terms of 2/10, n/30, FOB shipping point. Transportation costs paid by the seller totaled $150.  What is the cost of the merchandise purchased?

	a.
	$5,150

	b.
	$4,900

	c.
	$5,025

	d.
	$5,050


____
36.
X sold Y merchandise on account FOB shipping point, 2/10, net 30, for $10,000. X prepaid the $200 shipping charge.  Which of the following entries does X make to record this sale?

	a.
	Accounts Receivable-Y, debit $10,000; Sales, credit $10,000

	b.
	Accounts Receivable-Y, debit $10,000; Sales, credit $10,000, and

Accounts Receivable-Y, debit $200; Cash, credit $200

	c.
	Accounts Receivable-Y, debit $10,400; Sales, credit $10,400

	d.
	Accounts Receivable-Y, debit $10,000; Sales, credit $10,000, and Transportation Out, debit $200; Cash, credit $200


____
37.
A chart of accounts for a merchandising business usually:

	a.
	is the same as the chart of accounts for a service business

	b.
	requires more accounts than does the chart of accounts for a service business

	c.
	is standardized by the FASB for all merchandising businesses

	d.
	does not have a Cost of Goods Sold account if a perpetual inventory system is used


____
38.
Expenses that are incurred directly or entirely in connection with the sale of merchandise are classified as:

	a.
	selling expenses

	b.
	general expenses

	c.
	other expenses

	d.
	administrative expenses


____
39.
Multiple-step income statements show:

	a.
	gross profit but not income from operations

	b.
	neither gross profit nor income from operations

	c.
	both gross profit and income from operations

	d.
	income from operations but not gross profit


____
40.
Which of the following would be reported on the statement of owner's equity for the current year?

	a.
	sales

	b.
	withdrawals for the current year

	c.
	cost of merchandise sold

	d.
	merchandise inventory


____
41.
Which of the following is not defined as Cash?

	a.
	checks

	b.
	compensating bank balances

	c.
	money orders

	d.
	cash-in-bank


____
42.
The cash account in the depositor's ledger is a(n):

	a.
	asset with a debit balance

	b.
	asset with a credit balance

	c.
	liability with a debit balance

	d.
	liability with a credit balance


____
43.
The debit balance in Cash Short and Over at the end of an accounting period is reported as:

	a.
	an expense on the income statement

	b.
	income on the income statement

	c.
	an asset on the balance sheet

	d.
	a liability on the balance sheet


____
44.
Procedures designed to detect theft or misuse of cash are called:

	a.
	accounting controls

	b.
	cash controls

	c.
	protective controls

	d.
	detective controls


____
45.
A special form on which is recorded pertinent data about a liability and the particulars of its payment is called a:

	a.
	voucher

	b.
	credit memorandum

	c.
	debit memorandum

	d.
	remittance advice


____
46.
EFT:

	a.
	means Efficient Funds Transfer

	b.
	can process certain cash transactions at less cost than by using the mail

	c.
	makes it easier to document purchase and sale transactions

	d.
	means Effective Funds Transfer


____
47.
A voucher:

	a.
	is received from customers to explain the purpose of a payment

	b.
	is normally prepared in the Accounting Department

	c.
	system is used to control cash receipts

	d.
	system is an internal control procedure to verify that the assets in the ledger are the ones the company owns


____
48.
The person who signs the check is called the:

	a.
	drawee

	b.
	drawer

	c.
	payee

	d.
	bank examiner


____
49.
The party to whose order a check is written is called the:

	a.
	payer

	b.
	drawer

	c.
	drawee

	d.
	payee


____
50.
The bank on which a check is drawn is called the:

	a.
	drawer

	b.
	payee

	c.
	drawee

	d.
	creditor


____
51.
A bank reconciliation should be prepared periodically because:

	a.
	the depositor's records and the bank's records are in agreement

	b.
	the bank has not recorded all of its transactions

	c.
	any differences between the depositor's records and the bank's records should be determined, and any errors made by either party should be discovered and corrected

	d.
	the bank must make sure that its records are correct


____
52.
Journal entries based on the bank reconciliation are required in the depositor's accounts for:

	a.
	outstanding checks

	b.
	deposits in transit

	c.
	bank errors

	d.
	book errors


____
53.
Accompanying the bank statement was a debit memorandum for bank service charges.  What entry is required in the depositor's accounts?

	a.
	debit Miscellaneous Administrative Expense; credit Cash

	b.
	debit Cash; credit Other Income

	c.
	debit Cash; credit Accounts Payable

	d.
	debit Accounts Payable; credit Cash


____
54.
Receipts from cash sales of $7,500 were recorded incorrectly in the cash receipts journal as $5,700.  What entry is required in the depositor's accounts?

	a.
	debit Sales; credit Cash

	b.
	debit Cash; credit Accounts Receivable

	c.
	debit Cash; credit Sales

	d.
	debit Accounts Receivable; credit Cash


____
55.
Accompanying the bank statement was a credit memorandum for a short-term note collected by the bank for the customer.  What entry is required in the depositor's accounts?

	a.
	debit Notes Receivable; credit Cash

	b.
	debit Cash; credit Miscellaneous Income

	c.
	debit Cash; credit Notes Receivable

	d.
	debit Accounts Receivable; credit Cash


____
56.
Accompanying the bank statement was a debit memorandum for an NSF check received from a customer.  What entry is required in the depositor's accounts?

	a.
	debit Other Income; credit Cash

	b.
	debit Cash; credit Other Income

	c.
	debit Cash; credit Accounts Receivable

	d.
	debit Accounts Receivable; credit Cash


____
57.
A check drawn by a depositor in payment of a voucher for $925 was recorded in the journal as $295. What entry is required in the depositor's accounts?

	a.
	debit Accounts Payable; credit Cash

	b.
	debit Cash; credit Accounts Receivable

	c.
	debit Cash; credit Accounts Payable

	d.
	debit Accounts Receivable; credit Cash


____
58.
The debit recorded in the journal to reimburse the petty cash fund is to:

	a.
	Petty Cash

	b.
	Accounts Receivable

	c.
	Cash

	d.
	various accounts for which the petty cash was disbursed


____
59.
Cash equivalents include:

	a.
	checks

	b.
	coins and currency

	c.
	money market accounts and commercial paper

	d.
	stocks and short-term bonds


____
60.
The doomsday ratio is:

	a.
	current assets divided by current liabilities

	b.
	total assets divided by current liabilities

	c.
	cash and cash equivalents divided by current liabilities

	d.
	current liabilities as a percent of cash and cash equivalents


____
61.
A note receivable due in 60 days is listed on the balance sheet under the caption:

	a.
	long-term liabilities

	b.
	fixed assets

	c.
	current assets

	d.
	current liabilities


____
62.
A note receivable due in 2 years is listed on the balance sheet under the caption:

	a.
	current assets

	b.
	investments

	c.
	fixed assets

	d.
	owner's equity


____
63.
Internal control over receivables is achieved when the employee who handles the accounting for receivables:

	a.
	also is involved with the operating aspects of approving credit

	b.
	also is involved with the operating aspects of collecting receivables

	c.
	is not involved with the operating aspects of approving credit

	d.
	also is involved with authorizing adjustments to receivables


____
64.
The two methods of accounting for uncollectible receivables are the allowance method and the:

	a.
	equity method

	b.
	direct write-off method

	c.
	interest method

	d.
	cost method


____
65.
Allowance for Doubtful Accounts has a credit balance of $800 at the end of the year (before adjustment), and an analysis of accounts in the customers ledger indicates doubtful accounts of $15,000.  Which of the following entries records the proper provision for doubtful accounts?

	a.
	debit Uncollectible Accounts Expense, $800; credit Allowance for Doubtful Accounts, $800

	b.
	debit Uncollectible Accounts Expense, $14,200; credit Allowance for Doubtful Accounts, $14,200

	c.
	debit Allowance for Doubtful Accounts, $800; credit Uncollectible Accounts Expense, $800

	d.
	debit Allowance for Doubtful Accounts, $15,800; credit Uncollectible Accounts Expense, $15,800


____
66.
After the accounts are adjusted and closed at the end of the fiscal year, Accounts Receivable has a balance of $450,000 and Allowance for Doubtful Accounts has a balance of $25,000.  What is the net expected realizable value of the accounts receivable?

	a.
	$25,000

	b.
	$425,000

	c.
	$450,000

	d.
	$455,000


____
67.
Allowance for Doubtful Accounts has a credit balance of $1,500 at the end of the year (before adjustment), and an analysis of customers' accounts indicates doubtful accounts of $17,900.  Which of the following entries records the proper provision for doubtful accounts?

	a.
	debit Allowance for Doubtful Accounts, $16,400; credit Uncollectible Accounts Expense, $16,400

	b.
	debit Allowance for Doubtful Accounts, $19,400; credit Uncollectible Accounts Expense, $19,400

	c.
	debit Uncollectible Accounts Expense, $19,400; credit Allowance for Doubtful Accounts, $19,400

	d.
	debit Uncollectible Accounts Expense, $16,400; credit Allowance for Doubtful Accounts, $16,400


____
68.
In using the allowance method of accounting for uncollectible receivables, the two ways of estimating the amount of uncollectibles are analysis of receivables and percentage of:

	a.
	payables

	b.
	cash sales

	c.
	purchases on account

	d.
	net sales on account


____
69.
What is the type of account and normal balance of Allowance for Doubtful Accounts?

	a.
	Contra asset, credit

	b.
	Asset, debit

	c.
	Asset, credit

	d.
	Contra asset, debit


____
70.
If the direct write-off method of accounting for uncollectible receivables is used, what general ledger account is credited to write off a customer's account as uncollectible?

	a.
	Uncollectible Accounts Expense

	b.
	Accounts Receivable

	c.
	Allowance for Doubtful Accounts

	d.
	Interest Expense


____
71.
In reference to a promissory note, the person who makes the promise to pay is called the:

	a.
	maker

	b.
	payee

	c.
	seller

	d.
	drawee


____
72.
In reference to a promissory note, the person who is to receive payment is called the:

	a.
	maker

	b.
	payee

	c.
	seller

	d.
	payor


____
73.
The amount of the promissory note plus the interest earned on the due date is called the:

	a.
	realizable value

	b.
	maturity value

	c.
	face value

	d.
	net realizable value


____
74.
The due date of a 60-day note dated March 10 is:

	a.
	May 7

	b.
	May 8

	c.
	May 9

	d.
	May 10


____
75.
A 90-day, 12% note for $10,000, dated May 1, is received from a customer on account.  The maturity value of the note is:

	a.
	$10,000

	b.
	$10,300

	c.
	$450

	d.
	$9,550


____
76.
A 60-day, 12% note for $15,000, dated May 1, is received from a customer on account.  The maturity value of the note is:

	a.
	$14,700

	b.
	$15,000

	c.
	$15,300

	d.
	$16,200


____
77.
The journal entry to record a note received from a customer to apply on account is:

	a.
	debit Notes Receivable; credit Accounts Receivable

	b.
	debit Accounts Receivable; credit Notes Receivable

	c.
	debit Cash; credit Notes Receivable

	d.
	debit Notes Receivable; credit Notes Payable


____
78.
A $6,000, 30-day, 12% note recorded on November 21 is not paid by the maker at maturity.  The journal entry to recognize this event is:

	a.
	debit Cash, $6,060; credit Notes Receivable, $6,060

	b.
	debit Accounts Receivable, $6,060; credit Notes Receivable, $6,000; Credit Interest Receivable, $60

	c.
	debit Notes Receivable, $6,060; credit Accounts Receivable, $6,060

	d.
	debit Accounts Receivable, $6,060; credit Notes Receivable, $6,000; Credit Interest Revenue, $60


____
79.
Receivables are usually listed on the balance sheet after Cash in what order?

	a.
	Accounts Receivable, Notes Receivable, Interest Receivable

	b.
	Interest Receivable, Notes Receivable, Accounts Receivable

	c.
	Notes Receivable, Interest Receivable, Accounts Receivable

	d.
	Notes Receivable, Accounts Receivable, Interest Receivable


____
80.
Accounts Receivable Turnover measures:

	a.
	how frequently during the year the accounts receivable are converted to cash

	b.
	the number of days outstanding

	c.
	the fair market value of accounts receivable

	d.
	the efficiency of the accounts payable function


____
81.
The term "inventory" indicates:

	a.
	merchandise held for sale in the normal course of business

	b.
	materials in the process of production or held for production

	c.
	both a and b

	d.
	neither a nor b


____
82.
Under a perpetual inventory system, the amount of each type of merchandise on hand is available in the:

	a.
	customer's ledger

	b.
	creditor's ledger

	c.
	inventory ledger

	d.
	merchandise inventory account


____
83.
If title to merchandise purchases passes to the buyer when the goods are shipped from the seller, the terms are:

	a.
	n/30

	b.
	FOB shipping point

	c.
	FOB destination

	d.
	consigned


____
84.
If the merchandise costs $5,000, insurance in transit costs $100, tariff costs $50, and the company receiving dock personnel costs $15, what is the total cost charged to the merchandise?

	a.
	$5,100

	b.
	$5,150

	c.
	$5,165

	d.
	$5,000


____
85.
Merchandise inventory at the end of the year is overstated. Which of the following statements correctly states the effect of the error?

	a.
	owner's equity is overstated

	b.
	cost of merchandise sold is overstated

	c.
	gross profit is understated

	d.
	net income is understated


____
86.
The inventory method that considers the inventory to be composed of the units of merchandise acquired earliest is called:

	a.
	first-in, first-out

	b.
	last-in, first-out

	c.
	average cost

	d.
	retail method


____
87.
The inventory data for an item for November are:

Nov.  1  Inventory......... 20 units at $20

      4  Sold.............. 10 units

     10  Purchased......... 30 units at $21

     17  Sold.............. 20 units

     30  Purchased......... 10 units at $22

Using the perpetual system, costing by the first-in, first-out method, what is the cost of the merchandise inventory of 30 units on November 30?

	a.
	$640

	b.
	$610

	c.
	$620

	d.
	$630


____
88.
Under the perpetual inventory system, all purchases of merchandise are debited to the account entitled:

	a.
	Merchandise Inventory

	b.
	Cost of Merchandise Sold

	c.
	Cost of Merchandise Available for Sale

	d.
	Purchases


____
89.
The inventory data for an item for November are:

Nov.  1  Inventory......... 20 units at $20

      4  Sold.............. 10 units

     10  Purchased......... 30 units at $21

     17  Sold.............. 20 units

     30  Purchased......... 10 units at $22

Using the perpetual system, costing by the last-in, first-out method, what is the cost of the merchandise inventory of 30 units on November 30?

	a.
	$640

	b.
	$630

	c.
	$660

	d.
	$610


____
90.
Under a perpetual inventory system:

	a.
	accounting records continuously disclose the amount of inventory

	b.
	increases in inventory resulting from purchases are debited to Purchases

	c.
	there is no need for a year-end physical count

	d.
	the purchase returns and allowances account is credited when goods are returned to vendors


____
91.
The inventory data for an item for the month of May are as follows:

May  1  Inventory......... 20 units at $50

     5  Sold.............. 15 units

    10  Purchased......... 30 units at $55

    20  Sold.............. 30 units

    29  Purchased......... 20 units at $60

What is the cost of the merchandise inventory of 25 units on May 31 by the first-in, first-out method if the periodic system is used?

	a.
	$1,500

	b.
	$1,275

	c.
	$1,475

	d.
	$1,250


____
92.
The inventory data for an item for the month of May are as follows:

May  1  Inventory......... 20 units at $50

     5  Sold.............. 15 units

    10  Purchased......... 30 units at $55

    20  Sold.............. 30 units

    29  Purchased......... 20 units at $60

What is the cost of the merchandise inventory of 25 units on May 31 by the last-in, first-out method if the periodic system is used?

	a.
	$1,750

	b.
	$1,275

	c.
	$1,450

	d.
	$1,700


____
93.
The following lots of a particular commodity were available for sale during the year:

Beginning inventory........ 10 units at $61

First purchase............. 25 units at $63

Second purchase............ 30 units at $64

Third purchase............. 15 units at $73

The firm uses the periodic system and there are 20 units of the commodity on hand at the end of the year.  What is the amount of the inventory at the end of the year according to the average cost method?

	a.
	$1,300

	b.
	$1,305

	c.
	$1,415

	d.
	$1,236


____
94.
The following lots of a particular commodity were available for sale during the year:

Beginning inventory........ 10 units at $60

First purchase............. 25 units at $63

Second purchase............ 30 units at $64

Third purchase............. 15 units at $70

The firm uses the periodic system and there are 20 units of the commodity on hand at the end of the year.  What is the amount of the inventory at the end of the year according to the lower of cost or market, using the first-in, first-out method, if the current replacement cost is $64 a unit?

	a.
	$1,200

	b.
	$1,230

	c.
	$1,280

	d.
	$1,370


____
95.
During a period of consistently rising prices, the method of inventory that will result in reporting the greatest cost of merchandise sold is:

	a.
	fifo

	b.
	lifo

	c.
	average cost

	d.
	weighted average


____
96.
If merchandise inventory is being valued at cost and the price level is consistently rising, which method of costing will yield the largest gross profit?

	a.
	average cost

	b.
	lifo

	c.
	fifo

	d.
	weighted average


____
97.
Damaged merchandise that can be sold only at prices below cost should be valued at:

	a.
	net realizable value

	b.
	lifo

	c.
	fifo

	d.
	average


____
98.
Merchandise Inventory is reported on the balance sheet in the section entitled:

	a.
	current assets

	b.
	fixed assets

	c.
	current liabilities

	d.
	owner's equity


____
99.
On the basis of the following data, what is the estimated cost of the merchandise inventory on October 31 by the retail method?

	
	Cost
	Retail

	Oct. 1     Merchandise Inventory
	$225,000
	$324,500

	Oct. 1-31  Purchases (net)
	 335,000
	 475,500

	Oct. 1-31  Sales (net)
	
	 700,000


	a.
	$372,000

	b.
	$140,000

	c.
	$100,000

	d.
	$ 70,000


____
100.
If the estimated rate of gross profit is 40%, what is the estimated cost of the merchandise inventory on June 30, based on the following data?

	June 1      Merchandise inventory
	$ 75,000

	June 1-30   Purchases (net)
	150,000

	June 1-30   Sales (net)
	135,000


	a.
	$144,000

	b.
	$140,000

	c.
	$ 81,000

	d.
	$ 54,500


Test 2 Review

Answer Section
MULTIPLE CHOICE

1.
A

2.
B

3.
B

4.
B

5.
A

6.
D

7.
A

8.
C

9.
C

10.
B

11.
A

12.
C

13.
C

14.
A

15.
B

16.
B

17.
C

18.
A

19.
D

20.
B

21.
A

22.
D

23.
B

24.
B

25.
B

26.
C

27.
D

28.
B

29.
D

30.
B

31.
B

32.
B

33.
A

34.
D

35.
D

36.
B

37.
B

38.
A

39.
C

40.
B

41.
B

42.
A

43.
A

44.
D

45.
A

46.
B

47.
B

48.
B

49.
D

50.
C

51.
C

52.
D

53.
A

54.
C

55.
C

56.
D

57.
A

58.
D

59.
C

60.
C

61.
C

62.
B

63.
C

64.
B

65.
B

66.
B

67.
D

68.
D

69.
A

70.
B

71.
A

72.
B

73.
B

74.
C

75.
B

76.
C

77.
A

78.
D

79.
D

80.
A

81.
C

82.
C

83.
B

84.
B

85.
A

86.
B

87.
A

88.
A

89.
B

90.
A

91.
C

92.
B

93.
A

94.
C

95.
B

96.
C

97.
A

98.
A

99.
D

100.
A

